## Fort Bend County Tabulation Bid 22-039

## Construction of Right Turn Lane for Pin Oak at Katy Flewellen Road for Fort Bend County Mobility Bond Project No. 17322X

Recommended: WadeCon, LLC \$243,281.00 Funding: Mobility Bonds

Company	Bid Price	Completion Time in Calendar Days
WadeCon, LLC Kingwood, TX	\$243,281.00	60
Maine Lane Industries, Ltd. Houston, TX	\$266,307.00	60
Jerdon Enterprise, L.P. Stafford, TX	\$290,888.88	60
TLC Construction Contract Services, Inc. Houston, TX	\$436,776.00	60

					Wade	WadeCon, LLC Main Lane Industries, Ltd.		Jerdon Enterprise, L.P.		TLC Construction Contract Services, Inc.		
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures
A. Site Pr	A. Site Preparation and Excavation Items					•	•		•	•	•	•
1	104	Remove Old Concrete (Pavement With Curb, incl full depth sawcut)	SY	109	\$ 50.00	\$5,450.00	\$75.00	\$8,175.00	\$50.00	\$5,450.00	\$49.00	\$5,341.00
2	110	Roadway Excavation	CY	319	\$ 25.00	\$7,975.00	\$55.00	\$17,545.00	\$38.50	\$12,281.50	\$34.00	\$10,846.00
3	465	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	31	\$ 30.00	\$930.00	\$60.00	\$1,860.00	\$15.00	\$465.00	\$47.00	\$1,457.00
4	495	Removing Old Structures – Inlets (All Depths)	EA	1	\$ 1,000.00	\$1,000.00	\$1,750.00	\$1,750.00	\$525.00	\$525.00	\$1,457.00	\$1,457.00
5	500	Remove & Relocate Traffic Signs, Mail Boxes, and Roadway Signs	EA	1	\$ 500.00	\$500.00	\$600.00	\$600.00	\$80.00	\$80.00	\$223.00	\$223.00
6	562	Preparing Right-Of-Way	LS	1	\$ 40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	\$24,573.43	\$24,573.43	\$76,937.00	\$76,937.00
SUBTOTAL SITE PREPARATION AND EXCAVATION ITEMS \$55,855.00 \$54,930.00 \$43,374.93  B. Pavement Items								\$43,374.93		\$96,261.00		
7	360	8" Concrete Pavement	SY	414	\$ 120.00	\$49,680.00	\$165.00	\$68,310.00	\$165.00	\$68,310.00	\$185.00	\$76,590.00
8	433	Portland Cement Stabilized Sand Subgrade (8" Depth)	SY	480	\$ 20.00	\$9,600.00	\$35.00	\$16,800.00	\$27.25	\$13,080.00	\$28.00	\$13,440.00
9	530	6" Reinforced Concrete Curb	SY	307	\$ 5.00	\$1,535.00	\$1.00	\$307.00	\$9.00	\$2,763.00	\$14.00	\$4,298.00
10	530	5" Reinforced Concrete Ramp	SY	45	\$ 200.00	\$9,000.00	\$250.00	\$11,250.00	\$130.00	\$5,850.00	\$737.00	\$33,165.00
11	530	4 1/2" Reinforced Concrete Sidewalk	SY	14	\$ 100.00	\$1,400.00	\$250.00	\$3,500.00	\$105.00	\$1,470.00	\$117.00	\$1,638.00
12	DWG	Detectable Warning Surface (2' Wide)	LF	8	\$ 200.00	\$1,600.00	\$70.00	\$560.00	\$40.00	\$320.00	\$160.00	\$1,280.00
SUBTOTA	L PAVEMENT I	TEMS				\$72,815.00		\$100,727.00		\$91,793.00		\$130,411.00
C. Signing	g and Striping I	Aluminum Signs (Gound Mounted)	EA	2	\$ 400.00	\$800.00	\$400.00	\$800.00	\$375.00	\$750.00	\$472.00	\$944.00
		Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Solid -			7							
14	660	Furnish & Applied	LF	40	\$ 4.00	\$160.00	\$1.50	\$60.00	\$1.85	\$74.00	\$2.00	\$80.00
15	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Broken - Furnish & Applied	LF	105	\$ 4.00	\$420.00	\$1.00	\$105.00	\$1.85	\$194.25	\$2.00	\$210.00
16	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dotted - Furnish & Applied	LF	50	\$ 4.00	\$200.00	\$2.00	\$100.00	\$1.85	\$92.50	\$2.00	\$100.00
17	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	400	\$ 6.00	\$2,400.00	\$1.75	\$700.00	\$1.70	\$680.00	\$2.00	\$800.00
18	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	650	\$ 7.00	\$4,550.00	\$3.75	\$2,437.50	\$2.60	\$1,690.00	\$3.00	\$1,950.00
19	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	180	\$ 10.00	\$1,800.00	\$7.00	\$1,260.00	\$5.30	\$954.00	\$7.00	\$1,260.00
20	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid -	LF	310	\$ 4.00	\$1,240.00	\$1.00	\$310.00	\$0.80	\$248.00	\$1.00	\$310.00
21	660	Furnish & Applied  Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish &	LF	60	\$ 10.00	\$600.00	\$8.00	\$480.00	\$5.30	\$318.00	\$7.00	\$420.00
22	660	Applied Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish &	EA	3	\$ 200.00	\$600.00	\$190.00	\$570.00	\$140.00	\$420.00	\$177.00	\$531.00
23	660	Applied	EA LF	3	\$ 200.00 \$ 5.00	\$600.00	\$210.00	\$630.00	\$140.00	\$420.00	\$185.00	\$555.00
25	660 663	Painted Curb (Yellow)	EA EA	100 92	\$ 5.00	\$500.00 \$460.00	\$1.25 \$5.00	\$125.00 \$460.00	\$1.90 \$5.50	\$190.00 \$506.00	\$2.00 \$7.00	\$200.00 \$644.00
26	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA EA	92 16	\$ 5.00	\$460.00	\$5.00	\$460.00	\$5.50 \$5.50	\$506.00	\$7.00	\$644.00
27	674	Raised Reflectorized Pavement Markers (Type II-A-A)	LF	330	\$ 5.00	\$330.00	\$5.00	\$132.00	\$5.50	\$132.00	\$1.00	\$330.00
28	674	Remove Pavement Markings (4") Remove Pavement Markings (8")	LF	260	\$ 1.00	\$330.00	\$0.40	\$132.00	\$0.40	\$132.00	\$1.00	\$260.00
28	674		SF	650	\$ 1.00	\$260.00	\$0.80	\$208.00	\$0.80	\$208.00	\$1.00	\$1,300.00
30	674	Remove Pavement Markings (12")	SF SF	360	\$ 2.00	\$1,300.00	\$1.25	\$812.50	\$1.15	\$747.50	\$2.00	\$1,300.00
31	674	Remove Pavement Markings (24")	SF	64	\$ 3.00	\$1,080.00	\$1.25	\$810.00	\$1.15	\$73.60	\$3.00	\$1,080.00
32	674	Remove Pavement Markings (Arrow) Remove Pavement Markings (Word)	SF SF	64	\$ 2.00	\$128.00	\$1.25 \$1.25	\$80.00	\$1.15 \$1.15	\$73.60	\$2.00	\$128.00
		D STRIPING ITEMS	31	04	2.00	\$128.00	\$1.25	\$80.00	\$1.15	\$8,669.45	\$2.00	\$128.00 \$11,342.00
JUIOIA	L SIGIVING AIN	January Helvid				911,030.UU		910,240.00		90,003.43		711,342.UU

					WadeC	on, LLC	Main Lane I	ndustries, Ltd.	Jerdon Ente	erprise, L.P.		ction Contract es, Inc.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures
D. Traffi	c Control Items											
33	671	Traffic Control Plan	LS	1	\$ 10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$29,735.00	\$29,735.00
SUBTOT	AL TRAFFIC CON	TROL ITEMS				\$10,000.00		\$15,000.00		\$12,000.00		\$29,735.00
E. Storm	Water Pollution	n Prevention Items										
34	162	Sodding For Erosion Control and Stabilaztion (Various Widths)	SY	71	\$ 10.00	\$710.00	\$7.00	\$497.00	\$7.00	\$497.00	\$11.00	\$781.00
35	164	Hydro Mulch Seeding	SY	283	\$ 5.00	\$1,415.00	\$7.00	\$1,981.00	\$5.00	\$1,415.00	\$17.00	\$4,811.00
36	700	Notice of Intent	EA	1	\$ 500.00	\$500.00	\$500.00	\$500.00	\$225.00	\$225.00	\$4,308.00	\$4,308.00
37	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	1	\$ 100.00	\$100.00	\$150.00	\$150.00	\$90.00	\$90.00	\$138.00	\$138.00
SUBTOT	AL STORM WATE	I ER POLLUTION PREVENTION ITEMS			1	\$2,725.00	I	\$3,128.00	1	\$2,227.00	ı	\$10,038.00
F. Storm	Sewer Items 460	18"X28.5" Arch Pipe	IF	42	\$ 400.00	\$16.800.00	\$425.00	\$17,850.00	\$395.00	\$16,590.00	\$1.379.00	\$57.918.00
39	460	Concrete Collar	EA	1	\$ 500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$5,700.00	\$5,700.00
40	471	Precast Concrete Standard Manhole (5' ≤ Depth ≤10')	EA	2	\$ 4,000.00	\$8,000.00	\$5,250.00	\$10,500.00	\$6,000.00	\$12,000.00	\$8,461.00	\$16,922.00
41	472	Type C Inlet	EA	1	\$ 6,000.00	\$6,000.00	\$6,650.00	\$6,650.00	\$6,000.00	\$6,000.00	\$7,966.00	\$7,966.00
SUBTOT	AL STORM SEWE				,	\$31,300.00		\$36,000.00	1 , , , , , , , ,	\$35,590.00	, ,	\$88,506.00
	c Control Items											•
42	416 (TxDOT)	Drill Shaft (Trf Sig Pole) (36 in)	LF	13	\$ 400.00	\$5,200.00	\$282.00	\$3,666.00	\$890.00	\$11,570.00	\$538.00	\$6,994.00
43	618 (TxDOT)	Condt (PVC) (SCHD 80) (2")	LF	130	\$ 13.00	\$1,690.00	\$12.00	\$1,560.00	\$38.50	\$5,005.00	\$35.00	\$4,550.00
44	618 (TxDOT)	Condt (PVC) (SCHD 80) (3")	LF	60	\$ 17.00	\$1,020.00	\$15.00	\$900.00	\$46.75	\$2,805.00	\$35.00	\$2,100.00
45	618 (TxDOT)	Condt (PVC) (SCHD 80) (3") (Bore)	LF	200	\$ 26.00	\$5,200.00	\$25.00	\$5,000.00	\$55.00	\$11,000.00	\$36.00	\$7,200.00
46	620 (TxDOT)	Elec Condr (No. 6) Bare	LF	390	\$ 2.00	\$780.00	\$1.85	\$721.50	\$3.40	\$1,326.00	\$3.00	\$1,170.00
47 48	621 (TxDOT)	Tray Cable (4 Condr)(12 AWG)	LF	190	\$ 3.00 \$ 1,300.00	\$570.00	\$2.50	\$475.00	\$4.40	\$836.00	\$5.00	\$950.00
48	624 (TxDOT) 680 (TxDOT)	Ground Box Ty D (162922) w/Apron	EA EA	1	\$ 1,300.00 \$ 5,000.00	\$2,600.00 \$5,000.00	\$1,185.00 \$4,150.00	\$2,370.00 \$4,150.00	\$2,475.00 \$12,385.00	\$4,950.00 \$12,385.00	\$2,178.00 \$3,085.00	\$4,356.00 \$3,085.00
50	680 (TxDOT)	Install Hwy Trf Sig (System)	EA	1	\$ 2,000.00	\$2,000.00	\$4,150.00	\$4,150.00	\$4,125.00	\$4,125.00	\$2,608.00	\$2,608.00
51	682 (TxDOT)	Removing Traffic Signals  Veh Sig Sec (12 in) LED (Grn)	EA	2	\$ 250.00	\$500.00	\$200.00	\$400.00	\$450.00	\$900.00	\$432.00	\$864.00
52	682 (TxDOT)	Veh Sig Sec (12 in) LED (Grif) Veh Sig Sec (12 in) LED (Grif)	EA	1	\$ 250.00	\$250.00	\$200.00	\$200.00	\$450.00	\$450.00	\$283.00	\$283.00
53	682 (TxDOT)	Veh Sig Sec (12 in) LED (GIT ATW)  Veh Sig Sec (12 in) LED (Yel)	EA	2	\$ 250.00	\$500.00	\$200.00	\$400.00	\$450.00	\$900.00	\$431.00	\$862.00
54	682 (TxDOT)	Veh Sig Sec (12 in) LED (Red)	EA	2	\$ 250.00	\$500.00	\$200.00	\$400.00	\$450.00	\$900.00	\$431.00	\$862.00
55	682 (TxDOT)	Back Plate w/ref Brdr (3 Sec)(Vent) Alum	EA	1	\$ 120.00	\$120.00	\$100.00	\$100.00	\$200.00	\$200.00	\$246.00	\$246.00
56	682 (TxDOT)	Back Plate w/ref Brdr (4 Sec)(Vent) Alum	EA	1	\$ 120.00	\$120.00	\$105.00	\$105.00	\$210.00	\$210.00	\$277.00	\$277.00
57	684 (TxDOT)	Trf Sig Cbl (Ty A) (12 AWG) (2 Condr)	LF	550	\$ 2.00	\$1,100.00	\$1.50	\$825.00	\$3.30	\$1,815.00	\$3.00	\$1,650.00
58	684 (TxDOT)	Trf Sig Cbl (Ty A) (12 AWG) (4 Condr)	LF	310	\$ 3.00	\$930.00	\$2.00	\$620.00	\$4.75	\$1,472.50	\$6.00	\$1,860.00
59	684 (TxDOT)	Trf Sig Cbl (Ty A) (12 AWG) (7 Condr)	LF	460	\$ 3.00	\$1,380.00	\$2.75	\$1,265.00	\$7.00	\$3,220.00	\$4.00	\$1,840.00
60	686 (TxDOT)	Ins Trf Sig PI Am (S) 1 Arm (36') Lum	EA	1	\$ 20,000.00	\$20,000.00	\$18,200.00	\$18,200.00	\$26,675.00	\$26,675.00	\$20,762.00	\$20,762.00
61	687 (TxDOT)	Pedestrian Push Button Pole	EA	1	\$ 2,000.00	\$2,000.00	\$1,825.00	\$1,825.00	\$3,850.00	\$3,850.00	\$5,531.00	\$5,531.00
62	6306 (TxDOT)	VIVDS Cabling	LF	230	\$ 3.00	\$690.00	\$2.65	\$609.50	\$5.50	\$1,265.00	\$7.00	\$1,610.00
63	6306 (TxDOT)	VIVDS Cam Assy (Relocate)	EA	1	\$ 800.00	\$800.00	\$750.00	\$750.00	\$1,375.00	\$1,375.00	\$823.00	\$823.00
SUBTOT	AL TRAFFIC CON	TROL ITEMS				\$52,950.00		\$46,282.00		\$97,234.50		\$70,483.00

for Fort Bend County

					WadeCon, LLC		Main Lane Industries, Ltd.		Jerdon Enterprise, L.P.		TLC Construction Contract Services, Inc.	
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures

	WadeCon, LLC	Main Lane Industries, Ltd.	Jerdon Enterprise, L.P.	TLC Construction Contract Services, Inc.
A. Site Preparation and Excavation Items	\$55,855.00	\$54,930.00	\$43,374.93	\$96,261.00
B. Pavement Items	\$72,815.00	\$100,727.00	\$91,793.00	\$130,411.00
C. Signing and Striping Items	\$17,636.00	\$10,240.00	\$8,669.45	\$11,342.00
D. Traffic Control Items	\$10,000.00	\$15,000.00	\$12,000.00	\$29,735.00
E. Storm Water Pollution Prevention Items	\$2,725.00	\$3,128.00	\$2,227.00	\$10,038.00
F. Storm Sewer Items	\$31,300.00	\$36,000.00	\$35,590.00	\$88,506.00
G. Traffic Control Items	\$52,950.00	\$46,282.00	\$97,234.50	\$70,483.00
TOTAL BID PRICE (SUM OF ITEMS A THROUGH G)	\$243,281.00	\$266,307.00	\$290,888.88	\$436,776.00